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QUESTION 1

Given the class:

@FPath(" rescource" )
cla=s=s Resource éj&
AEET @POST 4

opublic Gt:ﬁ gotMamc{ ) [
retu_rn# Bme" i
I} d

} W3
Choose the option that describes what would happen if this class were deployed (Choose one):
A. Any HTTP GET or POST request with the URL "/resource"” would result in a call to getName().
B. Any HTTP GET or POST request with URLs that begin with "/resource” would result in a call to getName().
C. A runtime error would result, since a method cannot be responsible for both GET and POST requests.
D. A compile error would result, since a method cannot be responsible for both GET and POST requests.

Correct Answer: A

QUESTION 2

Given that:

cconplexTvpe nanes"HyType"
{=EqUENCE >

c2lement name="doz' twvpe="baszst4Binary" Hmim*xnectEdCDntentTmes="image/jpeg"f}r

L AEeEquEnce » 0
vroconplexTypes (‘,

L
¢ JhHB generated bean for the above t‘;-"nz{

ot

@
public K gstDoo() | G
1

public cla=ss MyTwyps

What is X in the above code ? (Choose one)
A. byte[]

B. DataHandler

C. Image

D. Byte[]

Correct Answer: C
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QUESTION 3

An automobile manufacturer publishes a Web service for use by their suppliers. The manufacturer has stringent security
requirements that require suppliers to verify their identity. Data integrity and confidentiality must be maintained between
the client and the server. Which two meet all of these requirements? (Choose two.)

A. X.509 and XKMS

B. XACML and XKMS

C. SSL and mutual authentication

D. XML Encryption and XML Digital Signature

E. Private network and XML Signature

Correct Answer: CD

QUESTION 4

Given the resource class fragment:

@Fath(" rezsource')

cla== Fesource {
WPatal "~ 1d") @POST

Striag update(. . .) { ... }

@Pataf " 14"y @EET

String getlId() { ... } f
And given the web xml fracment O

fomermlet &
izerv]et-nansr»lerssy« z’s&t —nams»
‘zervlet—class:
COT . SUn ., JETSEY . Sr_i&'tainer =ervlet . ServletCoatainer
(szerv]iet—classy 2!
LS=eTrvietl
t=arvlet—mapping
(=ervlst—nanserlersey{ servlet-nans:

inrl-pattern:-est o url-pattern:
{sS=mrvlet—-napping

Choose the code fragment below that would secure access only to the Resource update() method (Choose one):
A. /rest GET POST

B. /rest POST

C. Irest/id POST GET

D. D. /id POST

Correct Answer: B
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QUESTION 5

What is an advantage of enabling Addressing feature on an endpoint?

A. Addressing ensures reliable transfer of messages between client address and the service address.
B. Addressing ensures the message exchanges between the client and service are properly secured.
C. Addressing enables the optimization of messages exchanged between the client and the service.

D. Addressing provides transport-neutral way to address the endpoints and messages.

Correct Answer: D
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